60]_-7\e

Z =26

N =34

adopted link

ENSDF link

Based on ENSDF from Oct 2022, and mass evaluation from 2020

BE = 525.351 ( 0.003) MeV
Qbeta- = 0.237 ( 0.003) MeV
Energy T J+ J- J-other T1/2

60FE 1 | 0.000 o+ | | 1 2.62E+6 Y 4

60FE 2 | 0.824 2+ | | 2 7.9 PS 8

60FE 3 | 1.974 0+ | | 3

60FE 4 | 2.115 4+ | I 4 0.83PS 21
60FE 5 | | | 2.300 5

60FE 6 | 2.356 0+ | | 6

60FE 7 | 2.673 2+ | | 7

60FE 8 | 2.756 2+ | | 8

60FE 9 | | | 2.793 3+, 4+ 9

60FE 10 | 3.039 2+ | | 10

60FE 11 | 3.072 4+ | | 11

60FE 12 | | | 3.194 12

60FE 13 | | 3.293 3- | 13

60FE 14 | | | 3.308 14

60FE 15 | | | 3.353 15

60FE 16 | | | 3.486 16

60FE 17 | | | 3.499 (4+) 17

60FE 18 | | | 3.516 (5-) 18 49 PS 21
60FE 19 | | |  3.520 (4+) 19

60FE 20 | 3.520 6+ | | 20

60FE 21 | | | 3.562 (3-) 21

60FE 22 | | | 3.582 (6+) 22

60FE 23 | 3.635 2+ | | 23

60FE 24 | | | 3.648 24

60FE 25 | 3.698 0+ | | 25

60FE 26 | | | 3.714 26

60FE 27 | | 3.867 3- | 27

60FE 28 | | | 3.875 28

60FE 29 | | | 3.905 (6+) 29

60FE 30 | 3.930 2+ | | 30

60FE 31 | 3.932 6+ | | 31

60FE 32 | | | 3.958 6(-) 32 0.4 PS GT
60FE 33 | | | 3.959 (7+) 33

60FE 34 | |  4.053 3- | 34

60FE 35 | 4.176 2+ | | 35

60FE 36 | |  4.280 3- | 36

60FE 37 | I |  4.296 7(-) 37 0.4 PS GT


http://www.nndc.bnl.gov/ensdf/getadopted.jsp?nuc=60Fe 
https://www.nndc.bnl.gov/ensdf/
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S-n =
S-2p =
S-2n =
S-alpha=

S+p

S+n
S+2p
S+2n
S+alpha

gap p

gap n

gap 2p
gap 2n
gap alpha

.820 ( 0.003)

.999 ( 0.005)---

.401 ( 0.003)---
.553 ( 0.003)
-8.774 ( 0.004)
-5.579 ( 0.004)
-19.911 ( 0.003)
-13.608 ( 0.004)
-8.111 ( 0.003)
4.403 ( 0.005)
3.241 ( 0.005)
4.088 ( 0.006)
1.793 ( 0.006)
0.442 ( 0.005)




